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Note : 1
i)  The question paper is divided into two parts — Part-A and Part-B.

i)  Part-A and Part-B are divided into three Sub-Sections — (1), (2) and
(3). |

1) In Part-A of the question paper, there are multiple choice questions in
which select the correct alternative and then by a blue or black bal.

point pen, fill completely in the circle in OMR Answer Sheet. Do not

€rase, cut or use whitener on the OMR Answer Sheet after answering,

1v) 1 mark is allotted for each question in the multiple choice ‘question of
Part-A.

v)  Part-B has descriptive questions.
vi) The allotted marks are given in each question.

vil) All the questions of Sub-Sections of Part-B are to be attempted all at a

time. Start each Sub-Section from a new page.

viil) All the questions are cumpulsnry.

qug - A
PART - A

( TEfasedra v )

( Multiple Choice Type Questions )

YU - (1)
Sub-Section - (1)

1. T8 o & sig =1 widfem s, dian 3k g @ St swar @ »

(A) Faae oiF (B) I oI

(C) ®Has (D) ¥ & H 7 1
From which lens the image of object formed is virtual, erect and smaller

than the.ﬂbjcct ?

(A) Concave lens (B) Convex lens

(C) Plane lens (D) None of these 1
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2. TH T T F Thar Fx o g F e A gt 20 W R 7 S gw A v
&t gt @ Bt 2

(A) 5 uH @) 10@d
() 15&H D) 20 ot 1
2. In a spherical mirror the distance between its centre of curvature and

pole 1s 20 cm. What is the distance of focus from the pole of mirror ?

A) Scm . B 10cm
(€) 15cm D) 20cm I
3. Y % FRE g % wwor ey fen fwrd vear @ ?
(A) TWEE (B) 39
©) fadm (D) SehIvH - 1
3. Due to which phenomenon of light does the sky appear blue ?
(A) Reflection ~ (B) Refraction
(C) Dispersion (D) Scattering 1
4. U oG gEa +2 SR B) qEeht wew g At 7 feeeh gt 2
(A) + SO (B) -50
(C) +25 D) -25 1
4, ’fhe power of a lens is + 2 dioptre. What will be i'ts hfocal I;:ngth incm ?
(A) + 50 B) -50
(C) +25 (D) =25 I 1
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5. W AR 9 Prafafes o, fgd a0 S R ar & doft s d S d

(A) Y-k AR (B)  3Sqr R
(C) <hfya ar D) 0 ¥ = T 1
5. In which of the following wires of domestic electric distribution is the

fuse wire connected in series ?

(A) Earth-connected wire (B) ‘Ncutral wire
(C) Live wire (D) None of these - ]
6. ﬂﬁ?lﬁﬁ,wwma;mm:xl,xz,xsﬂmﬁﬁlmﬁ
Preferi  w-a1 e @ § 2
A) - x. x, = X, B) x,.x,=x,
€) x,. Xy = X, (D) x,. Xy Xy =1 1
O. If the units of power, work and time are represented by x,, X x#

respectively, then which of the following relations is correct ?

(A) Xy Xp = Xgq (B) X, Xy = X,

C) x,.x,=x (D)  x.x,. x5 =1 1
7. @& 9 10 AR g yarRa gt 21 39§ 2 990 ¥ varfa gR

e 3raw it 7 feet gt 2

(A) 10 FEW B) %M

(C) 20 %™ D) 25 %™ 1
7 In a conductor 10 ampere of current is flowing. What will be the amount

of charge flowing in 2 second corresponding to it ?
(A) - 10 coulomb (B) 5 coulomb

(C) 20 coulomb (D) 25 coulomb -1
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ITUMT- (2)

Sub-Section - (2)
8. AR A% U w1 gH B

(A) CaS0,.7H,0 (B) CaS0,.2H,0
(C)  CaS0,.H,0 (D) CaSO,.5H,0 1
8. The formula of plaster of Paris is
(A) CaS0,.3H,0 B) CaSO,.2H,0
(C) CaS0,.H,0 (D) CaSO,.5H,0 | 1
9. pH ¥F 8-5 I faerm 2
(A) &g (B) 3=
(C) I D) T @ HS T 1
9. The solution with pH 8:S is
(A) alkaline (B) acidic
(C) neutral (D) none of these 1
10.  CH3—CH—CHO &I [UPAC 7 ?
CH,
(A) =T (B) AT
(C) 2-uefie M=e D) 2-ufe WA 1
CH;—CH—CHO
10. [UPAC name of [ 1S
CH,
(A) Butanal (B) Butanol
(C) 2-methyl propanal (D) 2-methyl propanol 1
11. oTeaw S 8 7 soragEl aren ac €
(A) 3m4Tg (B) g .
(C) 394 D) ffser g 1
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11.  The element having 7 electrons in its outermost orbit is

(A) Non-metal (B) Metal

(C) Metalloid | (D) Inert gas 1
12.  Hfcaam e &1 TaEHG 93 8

(A} CaNO, (B) Ca(NO,),

(C) Ca,NO, - (D) ca,NO, :
12. . Chemical formula of calcium nitrate is

(A) CaNO, | (B) Ca(NOj;),

(C) Ca;NO, (D) Ca,NO, 1
13.  Frafefea § & swigw agrenT @

(A) C,H, (B) CH,

(C) C,H, - (D) C4Hg 1

13.  An unsaturated hydrocarbon in the following is

(A)  CoH, (B) CH,
(€) CQHG (D) C;;Hg - 1
ITUTT - (3)

Sub-Section - (3)

14,  TerE AT STaT &

(A) THEFEIAEI R (B) WU gM |

(C) TIHHIEHIY gRI (D) HIESHIHR gRT 1
14. Blood pressure is meﬁsurcd bj-r

(A) Sphygmomanometer (B) Stethoscope

(C) Microscope (D) Micrometer 1
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19,

16.

16.

17.

17

18.

18.

Frerferiea # & F-a1 ey ani 2 2

(A)  YTIRIfRaH
(C) gAsRRA

(B) 3gieH
(D) T

Which of the following is plant hormone ?

(A) Thyroxin

(C) Cytokinin

Thferft gsy @
(A) TEES
(C) &l

Unisexual flower is

(A) Hibiscus
(C) Mustard
gt 1 IS 2

(A) BRI
(C) adten

Example of regeneration is

(A) Hydra
(C) Amoeba

(B) Insulin

(D) Oestrogen

(B) Odidr

(D) T

(B) Papaya
(D) Rose

(B) in@mtaﬂ
(D) AT

(B) Bryophyllum

(D) Planaria

3NN TE H7 & fe A frus o @A @ 2

(A) AT

(C) TR SRIATFIES

(A) Oxygen

(C) Sulphur dioxide

8000/80

(B) <™~

D) FEARERSET

Depletion of ozone layer is caused by which of the following ?

(B) Vapour

(D) © Clorofluorocarbon
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19.  Wipfas dRad @
(A) ™A (B) o1 Saet
(C) @« D) <A .
19, Natural ecosystem is
(A) Flower pots (B) Aquarium
(C) Farm . (D) Forest 1
20. IER @ § IAEH BId &
(A) I@ , - B f@
(C) @™ D) ® 9w fie-gRa o 1
20. Producer in a food chain is
~(A) Rat
(B) Cat
(C) Rabbit
(D) Green plant and blue-green algae 1
| Qque -
PART - B
( FUATEE W )

( Descriptive Questions )
STHE - (1)
| Sub-Section - (1)
1. 3 3w R wed € 2 P, @, R wfral A g QW & Fawwr 7 wyw et & am
ferfag, afe

() P¥as P f ag ) we 2@ Tl ;, WG Qb A B A
(i) OFaA T F TG H W @ T B, WG b i wwg N T
(i) R A T H 3l 7 @ Frere 6 g B W 3@ I ) 4
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1. What are the defects of vision ? Write down the names of the lenses used
for the correction of vision defect of three persons P, Q, R if

(1)  Pcan see only near objects clearly but cannot see far objects

(i)  Qcan see only far objects clearly but cannot see near objects

(i) ~ Rcan neither see far objects nor near objects clearly. 4
2. € W HE F yHW G wuw: 2.25x108 H/F a9 2.0x108 d/A T
fr=fRea sradis €6 o EIE 1 4

(i) Y% any $ig 51
2. The speeds of light in water and glass are respectively 2-25>~:10fB m/s

and 2-0x10% m/s. Calculate the following refractive index : . :

(1) the glass relative to water https://www.upboardonline.com

(i)  the glass relative to air.

I e e R R b L T wpp——

mRélmﬁwmm&mmmm%mﬂmﬁﬂTﬂw
e a8 sme 2 4

3 The resistance of a conductor depends on which factors and how ? The
resistance of a wire is R. What will be the resistance of the wire when the

wire is of double in length and half the radius of the same material ? A

4, ﬂn%ﬂﬁaﬁaﬁwaﬁﬁmﬂ%mﬁaﬁmﬁmlﬁw%ﬁaﬁmﬁ

() wfim F 93 gy = fam

o W gEr wa & O TR A, B C P &1 v yle an s am, e
IS L0 HT TT 791 BT @ ? | 6
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m. With thc help
26

4. State the following laws with the help of labelled diagra

of the following the direction of which physical quantity can be known
(1) Fleming's left hand rule
(i)  Right hand thumb rule

OR

Three wires A, B and C are emerging out from the main SOUrce of a

house. What will be the name, function and colour of the insulation for

each wire ? .
JAYTT - (2)
Sub-Section - (2)
5. (i) e % @ verEte o % et gdfieor fafeu) 2
(i) THIRS 3 & - TEENS TN F TaEHS g ) 2
< (1) Write the chemical equations for two chemical properties of
ethanol. 2
(i)  Write the chemical equations for two chemical properties of acetic
acid. 5.
6. frafeiRaa = awgmse . 2+9
(a) fe3rqges rffsean
(b)  JerEiiwor AR
6. Explain the following :

(a) Double decomposition reaction

(b) Neutralization reaction

8000/80
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7. FeieRen oot R fifa - 2+2+2
()  pH¥H
(i) STt rfifan
(i) <& fiforan
Aqr
() s areet w1 e i 3wE fafa - 2
(i) TR 317% A A R w1 TERES FHEw R 2
(i) HERO N IR T AT ?
7. Write short notes on the following : . 2+2+72

(1) pH value
(i) Oxidation reaction

(11) Combustion reaction.

OR
(1) Write the use of bleaching powder in purification of water. 2
(11) Write the chemical equation for obtaining gypsum from plaster of
Paris. 2
(iii)  Explain corrosion bj,r giving example. 2
JUHTT - (3)

Sub-Section - (3)

8 aitei = & w1 9z fedt wiitas +t fFe woR wnfye wed @ 2 249
8. What is ozone and how does it affect any ecosystem ? 2 49
0. W TN U@ W e HI I Higq FHARY 549
9. Describe the food chain and food ﬂcb with examples. 2+ 92
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10. Tr=fafea w wfim ool ferfe - 242
(F) HAH yauA
(@) ¥qpeE|

10. Write short notes on the following : 249

(@) Vegetative propagation

(b) Budding

11. THa wferss H = o Searfafy &1 afdm aofs Hifdw 6
Aqaqr
qifta # St warg 1 @i Joi Hifdng - 6
11. Describe the structure and function of human brain in brief. 6
OR
Describe energy flow in an ecosystem with diagram. 6
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